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1
D(t,x):=stack((t+1)-e AbsTol :=10_°  RelTol =10

tm

t,:=time(0) Xq :=stack(0) in=0 ¢ =10 N:=100

max °

min tmax 4

res := dn_AdamsMoulton(stack(O) , T

time(O)ftO =11.9995 mc

pl::res[lnN][;] t

:=res

[1..N]1

solution

O B N oW A
oulruINTIwLI A,

o

res :=dn_ExplicitRK45 (stack(o) .t

y = |n(o.5-t2+t+1)

res := dn_GearsBDF(stack(O) , T

y = |n(o.5-t2+t+1)

res :=dn_Impl icitRKS(stack(O) ,t

y = |n(o.5-t2+t+1)

=
o

err :=res

err :=res

err :=res

[1..N]2

[1..N]2

[1..N]2

N—l,D)

y::ln(

t

min

-y

min tmax 4

-y

t

min

-y

max ?

2

0.5t +t+1

error

max ?

error

) err :=res

6,0e-008
4,0e-008 - T
2,0e-008 |- .
0,0e+000 |- .
-2,0e-008 - T
-4,0e-008 |- .
-6,0e-008 |- .

N—l,D)

6,0e-008
4,0e-008 - T
2,0e-008 |- .
0,0e+000 |-
-2,0e-008 - T
-4,0e-008 |- .
-6,0e-008 |- .

N—l,D)

error

error

6,0e-008
4,0e-008 - T
2,0e-008 |- .
0,0e+000 |- .
-2,0e-008 - T
-4,0e-008 |- .
-6,0e-008 |- .

o

N—l,D)

6,0e-008 |
4,0e-008 - T
2,0e-008 |- .
0,0e+000 |- .
-2,0e-008 - T
-4,0e-008 |- .
-6,0e-008 |- .

o



